Q1 Your Name

Q2 Select your "primary" program of study (ONLY CHOOSE ONE):

ANSWER CHOICES	RESPONSES	_
Accounting and Finance	7.14%	3
Agribusiness Technology	0.00%	0
Associate Degree Nursing	16.67%	7
Associate in Arts	16.67%	7
Associate in Fine Arts in Visual Arts	0.00%	0
Associate in General Education	0.00%	0
Associate in General Education - Nursing	2.38%	1
Associate in Science	2.38%	1
Business Administration	9.52%	4
Cosmetology	2.38%	1
Criminal Justice Technology	2.38%	1
Digital Effects & Animation Technology	0.00%	0
Early Childhood Education-Career Option	2.38%	1
Early Childhood Education-Licensure Transfer	0.00%	0
Early Childhood Education-Non-Licensure Transfer	4.76%	2
Electrical Power Production Technology	2.38%	1
Electrical Systems Technology	0.00%	0
General Occupational Technology	0.00%	0
Gunsmithing	0.00%	0
Healthcare Management Technology	4.76%	2
Human Services Technology	0.00%	0
Human Services Technology-Gerontology	0.00%	0
Industrial Systems Technology	0.00%	0
Information Technology-Business Support	2.38%	1
Information Technology-Computer Programming	4.76%	2
Information Technology-Web	2.38%	1
Mechatronics Engineering Technology	0.00%	0
Medical Assisting	4.76%	2
Nurse Aide	4.76%	2
Office Administration	0.00%	0
Public Safety Administration - Correction Services	0.00%	0
Public Safety Administration - Emergency and Fire Management	0.00%	0

Graduation Survey 2020 Fall	SurveyMonkey		
Public Safety Administration - Law Enforcement Public Safety Administration - Security and Loss Prevention	0.00%	0	
Welding Technology	7.14%	3	
TOTAL		42	

Q3 How did you learn about PCC? (select all that apply)

ANSWER CHOICES	RESPONSES	
Banner/Sign in Town	14.29%	6
Billboard	9.52%	4
College Website	30.95%	13
DMV Office	0.00%	0
Friend or Family Member	35.71%	15
Facebook	16.67%	7
High School	61.90%	26
Instagram	2.38%	1
Mailing from PCC	30.95%	13
Newspaper	14.29%	6
Personal Contact	9.52%	4
Radio	2.38%	1
Recruitment Activity	4.76%	2
Twitter	0.00%	0
YouTube	2.38%	1
Other (please specify)	4.76%	2
Total Respondents: 42		

Q4 What were the important factor(s) for you when deciding to attend PCC? (please rank from 1 - 5)

	1 MOST IMPORTANT	2	3	4	5 LEAST IMPORTANT	TOTAL	WEIGHTED AVERAGE
Cost	52.94% 18	23.53% 8	17.65% 6	2.94% 1	2.94% 1	34	1.79
Location	64.86% 24	18.92% 7	10.81% 4	0.00%	5.41% 2	37	1.62
Program of Study	52.94% 18	17.65% 6	14.71% 5	8.82% 3	5.88% 2	34	1.97
Didn't get into school of choice	3.70% 1	3.70% 1	14.81% 4	22.22% 6	55.56% 15	27	4.22
Other	22.22% 2	0.00%	11.11%	11.11% 1	55.56% 5	9	3.78

Q5 What are 3 things you learned about navigating College that you wish someone had told you your first semester?

Q6 Did you utilize any of the career services listed below while at PCC? (select all that apply)

ANSWER CHOICES	RESPONSES	
Job Fair	40.00%	8
Workshops	35.00%	7
Career Website	35.00%	7
Total Respondents: 20		

Q7 My goal(s) for attending this community college were (select all that apply):

ANSWER CHOICES	RESPONSES	
Earning an Associate Degree, diploma, or certificate	100.00%	42
Improving existing job skills	16.67%	7
Personal Interest	16.67%	7
Preparing for getting a new job	23.81%	10
Transferring to a four year college/university	23.81%	10
Total Respondents: 42		

Q8 I accomplished my goal(s)

ANSWER CHOICES	RESPONSES	
Yes, completely	78.05%	32
Yes, partially	21.95%	9
No	0.00%	0
TOTAL		41

Q9 If you DID NOT accomplish your goal(s) which of the following best describes why you did not achieve your goal(s) (select all that apply):

ANSWER CHOICES	RESPONSES	
Job conflict	20.00%	1
New employment	40.00%	2
Financial hardship	20.00%	1
Family circumstances	20.00%	1
Joined the military	0.00%	0
Child care problems	0.00%	0
Medical problems	0.00%	0
Moved to a new area	0.00%	0
Lack of interest in pursuing course of study	20.00%	1
Dissatisfied with the services offered by the college	0.00%	0
Dissatisfied with the quality of instruction	0.00%	0
Total Respondents: 5		

Q10 Please answer the following questions accordingly:

Answered: 42 Skipped: 0

	YES	NO	TOTAL
Is this your first college degree, diploma, or certificate?	71.43% 30	28.57% 12	42
If you were to begin again would you choose to attend Piedmont Community College?	97.62% 41	2.38%	42
I would recommend Piedmont Community College to a friend.	100.00% 42	0.00%	42

Q11 Please rate your satisfaction with the following areas:

	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	NO ASSESSMENT	TOTAL
Academic Advising	63.41% 26	31.71% 13	0.00%	0.00%	4.88% 2	41
Registration	65.85% 27	31.71% 13	0.00%	0.00%	2.44%	41
Admissions	60.98% 25	34.15% 14	0.00%	0.00%	4.88%	41
Financial Aid	63.41% 26	29.27% 12	0.00%	0.00%	7.32%	41
Campus Security	52.50% 21	37.50% 15	0.00%	2.50%	7.50%	40
Student Activities	53.66%	29.27% 12	7.32%	0.00%	9.76%	41
Learning Resources Center	63.41% 26	29.27% 12	2.44%	0.00%	4.88%	41
Overall quality of the College	58.54% 24	41.46% 17	0.00%	0.00%	0.00%	41

Q12 Please rate your satisfaction with your academic program:

	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	NO ASSESSMENT	TOTAL
I am satisfied with the quality of instruction that I received in my MAJOR courses.	75.61% 31	21.95% 9	0.00%	0.00%	2.44%	41
I am satisfied with the quality of instruction in OTHER courses of my program (humanities, english, etc).	63.41% 26	34.15% 14	2.44%	0.00%	0.00%	41
My major courses at PCC were up-to- date and included what I need on my job.	73.17% 30	21.95% 9	2.44%	0.00%	2.44%	41
I am satisfied with the content of my major courses.	70.73% 29	26.83% 11	0.00%	0.00%	2.44%	41
I am satisfied with the technology that was available to me in my major courses.	63.41% 26	31.71% 13	2.44%	0.00%	2.44%	41
I am satisfied with the assistance that I received outside of class in my major courses.	70.73% 29	24.39% 10	0.00%	0.00%	4.88%	41
I am satisfied with the overall quality of my academic program.	63.41% 26	36.59% 15	0.00%	0.00%	0.00%	41

Q13 Strengths of my academic program:

Q14 Recommendations for my academic program:

Q15 Please answer the following questions pertaining to employment:

	YES	NO	SOMEWHAT	TOTAL
If employed, did you have this job prior to enrolling at PCC?	30.56% 11	66.67% 24	2.78% 1	36
If employed prior to attending PCC, do you feel the skills acquired at PCC prepared you to perform your job better?	64.29% 18	21.43% 6	14.29% 4	28
Is your job (skills) related to your studies at PCC?	74.19% 23	22.58% 7	3.23%	31
If NOT EMPLOYED prior to attending PCC, do you feel the skills acquired at PCC prepared you in obtaining and performing your job adequately at the entry level?	78.57% 22	10.71%	10.71%	28

Q16 Demographic Information (optional):

ANSWER CHOICES	RESPONSES	
Female	62.50%	25
Male	17.50%	7
Ages 19 - 24	45.00%	18
Ages 25 - 34	35.00%	14
Ages 35 - 44	12.50%	5
Ages 45 +	2.50%	1
Total Respondents: 40		

Q17 Ethnicity and Race (select all that apply-optional):

ANSWER CHOICES	RESPONSES	
Ethnicity/Race Unknown	0.00%	0
Hispanic or Latino	16.22%	6
American Indian or Alaskan Native	2.70%	1
Asian	2.70%	1
Black or African American	35.14%	13
Native Hawaiian or other Pacific Islander	0.00%	0
White	48.65%	18
Non-Resident Alien	0.00%	0
Resident Alien	2.70%	1
Total Respondents: 37		

Q18 Additional Comments: